
'<v

ffhEh{*g;
ffdFffi"t*

Zruurnururn

<<Zu:3 uruururhfr qh rltup{huurfr qhrnur\

qLnFULbnh 'I|LUL 202ttp. /rfrnf nfunr pytt/
<<(u1 ur u rn rub [r qbr[u p {b u rn ]r'1 btn ru I utr u t1 u 4bdfr ru>> h fr iltr ru 4p rud

r}Puilh

tuph\1urtr

'lum{hprumnrtr' <<(ur;ruurnurtrfr qbrpupr[bum[r rqhuulrub rullur4bdJru>> hlrdtrru4nuil

Orr O.,ntnbr*hL U,
bnuqhnn

Utr Llulr n Lrln' Pu ndn ruqn Uti t]npn Lpj n Ltr

FudhL 09 funujp 04
(nuun t+tlrt,)

Qtrilurb urnuplru;fr qhdrutr

6tr

/pbptrg
urqurnq

UIu{np[r
qh!n

Surtrur!p
Ptr4uilbbp
6uJuubp /qpw[/

U[9ub9[t1
l4n4p'CPV

ryuuuIrupqdur
tt

ut{ruhnulp Qurf rlrutt

d[urlnpp

1 2 3 4 5 6

uqnuLPLbn

44111710
uruhLl, Llbpu tlfrtlu !uL, hu Lntu !fr
hurdun

q< ,J2 5,000 100 500,000

24911 900 uurthLlh unufrtrd q< qq 150 1500 225,000

44111200 gbtlbbLn q< ttq 90 750 67,500

14211000 ur qujq., 2frtru.r p ur p ur Qutr q< d3 10,000 2 20,000

44111413 lnLrluLbpti q<
Uq 2,500 21 52,500

44111411 LbpQ, gpurfdnLlulrntr, uUnhL q< qq 1,500 100 150,000

44831500 lnLbirlLbp g< qq 1,000 10 10,000

33131430/1 qtnu{n11 tr hq[nq qnpbfrptrbp g< nuLn 1,200 20 24,000

3313143012 qmLn{nr1 tr hqqnt qnpbfrptrbp g< nuLn 800 20 16,000

44118300/1 phpbq dbLnurr1uL1urtr q< 62 8,000 B 64,000

44118300t2 phpbq dbrnurrlru!utr q< J2 8,000 50 400,000
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4416113012 lnuLnun pnrln{u!u2u nbn g<

31711160 h1b!urpnrptrbp g<

44192400 9rug, qfrquulfrtr q<

44921500 Ubqhur rlur6fr!' qfrq uulfrtr q<

tlbunp 2,000 60 120,000

dbrnp 1,000 150 150,000

!q 1,500 21 31,500

rnntrLu.t 100,000 0.35 35,000

tlq 150 300 45,000


